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一、填空：（每空2分，共40分）

1、
[image: image1.wmf]0

3

1

w

w

=


2、
[image: image2.wmf]m

N

M

×

=

=

157

50

p


3、
[image: image3.wmf]0

,

/

2

.

0

2

=

D

×

=

=

D

L

s

m

kg

v

m

p

v

v

v


4、
[image: image4.wmf]Pa

p

p

s

m

s

cm

v

s

m

s

cm

v

945

,

/

5

.

1

/

150

,

/

6

.

0

/

60

2

1

2

1

=

-

=

=

=

=


5、
[image: image5.wmf]R

Q

U

E

×

=

=

0

4

1

,

0

pe


6、
[image: image6.wmf]V

U

A

I

V

U

AO

AB

18

,

3

,

12

=

=

-

=


7、
[image: image7.wmf]0

,

=

+

=

ab

U

r

R

I

e


8、
[image: image8.wmf]V

2

10

1

.

3

-

´


9、
[image: image9.wmf]B

V

E

0

=


10、0

11、
[image: image10.wmf]3

/

6

.

12

126

.

0

/

200

m

J

T

m

A


二、计算题：（每小题10分，共60分）
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